
1 PCG) = p(c) =. L

o P(\<tG)=i P(\<lc)=r

) f)= e

I
f,

P( x) = P(r\G)P(c) + P( K) c) P(c) = +

tK)

rlc

C

= P(K(G) ?G) /pr<) : i

)= t P(k<tc)- 1

(c

(K

P

PL

Pcxk) = P(kKlc)?G) * P(\<kÍo)p(o
,,!

P (cr kK) = P( l{l( tc) P(G) / pt kK) =

| . P(Gtkk[4)=t

tP,.tt-) = E.b*= à u"{+: u'("1';

q*" ( t) = t áL 
íert\ 

* ^J ;te\ 
'1

Oè

t
d=È

abz
{ : D

EK= L
.l

2a

C

-z Ed' =. eJ /o )

di r".L)ê -(a-rx= E('-fx)-= R ("1



= VA-v- X =: Z

P(I\<\): L

= P(UJ =o) *. P(\Í5-<

o

P(Tl . \ <T3 +^ l1=

P( t-t cT*
1
(r \

7-  d"^  -F )  ( r - r^  )à .L t
I  - )c

1z-7x o-( x-

z.< o

x-) 1

I

{

2<

P
1

J
o

í

;
t -

)
o

)L

-L
L

r ; f  t  Ií(Wg=o

ol z<1

Í ' ) ( ' l

Y\Wn\<
J

\
=V+

:à+

: {  F

I
I

= À 7

/ l

= \à +
I,
I

\o
I
t
\1

l3a

1t

*,UJto)

") 
d,4



P(\^,ÍJ-(?clUf )o ) = 7 P(o.UJ-. 2t )

-_ \ar-*t o Kz-< 1
)

ÍC 
v<c>

t ' l  x->1

' o 
-(.) : a[r-") , o..<z(4Igtur)o

Et\^rjl:+ntu:tu1>o I
I

:{J^f r^\ àt-_ +
o \b l\JJ ro t* '

^

(,)

I \n.JK:* ' j^\\J3=o

\.lo = ol1
J

uJ= \-\
\lJ r WK : 11,-T" )

o<z< 1

ó ( , ]Z  - (  4

. lJe rs

e

P
P(Ur+Ux
r( r1rtr\

| - (r-=\'

{rr*r^(=) : I'(' 
-=)

\o

t . .  ,. "!- ..

z



/a

c

52s +
tÀ

I
(

Edr : l
o

-1
tr\,/ \
l -  A l  :  )

d

Voar {. t -

Fs"

Fr-J5,as :

y*r Srr, =

C/S

3
=?

I
I+

tz-ní

r '12
var\- = Èc nn ' /

3tr

3(

àrc

dz-

x,)'

3 rF-
2  ?1 Vuc

?  {  r , -

? x-  Vz-

z /
EX.- - E

3
= sn

b

52s í, :

Df Sses-  3t f
f \ 6

P( lsrrs-3/íl
Ssrs -  3, f

P( -a

3L
l r l  y

3

/

I
=y

7 oc") -o(-e) =

C\"[ysev' P( ï So,, - Esr,, I

P ( [ Sr.,

p( \ sr.,

-315 I

-3rf I

r2)

12\

x)

)

x- 6(* )

+-/ \
zQ-e)

>. k ) 
"

- )

v ec *r,----kr-



f  
_ - _ _

I sra FLx\x
i

- : =F6À(y,y)\XtyJ+ffy=yJJLyI-


